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*427| GDP (YoY) 6.9% — 6.8% (04| 45:6.9%) ...0{| & Stz| & 2009 127| 0|2 %K
* 128 LA A (YoY) 6.2% — 5.9% (0f| 4H:6.0%) .0 & S}2|
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4, 55-12 NAHBZFEHA|ZHX|4= 60 — 60 (0fAH:61)
5. R2=-118 ZA&X| 25.6B — 26.4B (0 4:19.3B)
-12¢ CPI (YoY) 0.2% — 0.2% (0f| 4+:0.2%)
6. A=-12¢ CPI (YoY) 0.1% — 0.2% (0| &+:0.1%)
EY-12¢ CPI (MoM) -0.1% — -0.1% (0f| &+:-0.1%)
-18 ZEWZA 7| A E| X4 16.1 — 10.2 (0 &+:8.2)
DOW30 16016.02 (+0.17%) WTI 28.46 (-3.3%)
NASDAQ 4476.95 (-0.26%) COMEXZ 1089.10 (-0.15%)
S&P500 1881.33 (+0.05%) COMEXT2| 1.9775 (+1.75%)
KOSPI 1889.64 (+0.60%)
KOSDAQ 681.25 (-0.35%) o= 2.065% (+2.6bp)
o|=2 2.038% (+0.3bp)
S2/9g 1.0909 (+0.0012) q= 1.70% (+0.7bp)
S2/4 128.25 (+0.40) == 0.55% (+1.2bp)
2/ 117.56 (+0.22) oA 0.86% (-0.1bp)
Ehay/9| ot 6.5596 (+0.0006) O|Etz|of 1.56% (-0.7bp)
2/ 1205.90 MY 121090 AHQl 1.70% (-3.9bp)
NDF 1207.80 / 1208.50¥ 0958 M5 ag|a 8.78% (-6.1bp)
=7} PEYS RS Previous Forecast
128 H=Ht 1.282M 1.200M
e -128 FEHALZ (MoM) 10.5% 1.6%
-128 CPI (MoM) 0.0% 0.0%
-12¢ Z/CPI (MoM) 0.2% 0.2%
%] -118 A E 5.2% 5.2%
=4 -12& PPI (MoM -0.2% -04%
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3y 1644% (-0.2bp) 3y 2.1bp (+0.5bp)
5y 1.807% (+0.9bp) 5y -9.2bp (-0.2bp)
10y 2.065% (+2.6bp) 10y -17.5bp (-0.9bp)
cD 1.670% 0)

1y 1.5850% (-0.25bp) 12y 0.00 (+0.25bp)
2y 1.5850% o) 2*3y 375 (+0.25bp)
3y 16225% (+0.25bp) 25y 13.00 (+0.75bp)
5Y 1.7150% (+0.75bp) 3+5Y 9.25 (+0.5bp)
7v 1.7900% (+1.25bp) 5+7Y 7550 (+0.5bp)
10Y 1.8900% (+1.75bp) 5+10Y 17.50 (+10bp)




